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THREE YEAR BAS/BCOMS/BSCS/BCAS/BBAS., (CBCS) DEGREE EXAMINATION
FOURTH SEMESTER
Part III - Foundation Course

ANALYTICAL SKILLS

Time : 2 Hours Max. Marf

Answer 25 questions. Choosing atleast FIVE questions from each Unit

All questions carry equal marks.
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UNIT -1

The bar graph given below shows the foreign exchange reserves of a country from 1991-199:
to 1998-1999. Answer the questions based on this graph.
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1.  The foreign exchange reserves in 1997-98 was how many times that in 1994-95?
1994-85 &° 283 20850 devdeRH 1997-98 &0 degen IR Ben?
(a) 0.7 (b) 1.2 () 14 d 15
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What was the percentage increase in the foreign exchange reserves in 1997-98 ove:
1993-94 &% 288 HI°5%0 PegwP 1997-98 &% dege Do) THO?

(a) 100 (b) 150 . (¢) 200 (d) 620

For which year, the percent increase of foreign exchange reserves over the previous

the highest? E

2 DOSBHYIHNS™D IV HI°650 Degen TDE H0E) FoSBYBRD degEE DD Doie Bgor
&B? ’

(a) 1992-93 (b) 1993-94 (c) 1994-95 (d) 1996-97

The foreign exchange reserves in 1996-97 were approximately what percent of the average
foreign exchange reserves over the period under review?

B20§0VD 5P IBWAES® HRew IBY D0rSE0 JOES® IR Jod THo 1996-97 0 258

Q8L degen &HB?
(@) 95% (b) 110% e 116% @ 125%

The ratio of the number of years, in which the foreign exchange reserves are above the
average reserves, to those in which the reserves are below the average reserves, is :

SKen VY DBE0 VO DD WY SE0 degen K BoSETre Koy, TWE BIOHD Dy

Q0T éoa)?ssi) Ke @Kg@
“(a) '2:6 b) 3:4 (©)y. <325 (d) - 44

The Pie-chart provided below gives the distribution of land (in a village) under various food
crops. Study the pie-chart carefully and answer the questions that follow.

Distribution of Areas (in Acres) under Various food crops.

Wheat 72°

—
Barley 36°
Jowar 18°

Bajral8>\ Others 99°
Maize 45°

Which combination of three crops contribute to 50% of the total area under the food crops?

(a) Wheat, Barley and Jowar (b) Rice, Wheat and Jowar
(c) Riée, Wheat and Barley (d) Bajra,_ Maize and Rice
&35 Soere Do ?_?65066' 50% 230570 H080e B0 HOBY 3ETB0H?
() e, 28 DBk H96 ' (b) 3R, DeS 2080k 96
© B, deS 2805w ZJ°§ | (d) e, & 8050 3
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If the total area under Jowar was 1.5 million acres, then what was the area (in millio:
under rice? :

56 5008 0G0 P50 1.5 1IANS TP PR Hoew I PFeg0 (WAADS JEoren
(a) 6 6] ‘18 e 9 d 45

If the production of wheat is 6 times that of barley, then what is the ratio between the vi
per acre of wheat and barley

28 688 6 Bex DeS si)d 08, D65, W ev JE0RE BodoS Sow DY
(a) .8:2 by 3:1 @y =121 (s 223

If the yield per acre of rice was 50% more than that of Barley, then the production of barley 1s
what percent of that of rice?

28 5083 BR JE0°08 Hodob Hoew 50% iy eond PO GBS’ 2B &8) Jod TH0?

(a) 30% (b) 333 % () 35% (d 36%

" If the total area goes up by 5% and the area under wheat production goes up by 12% then

what will be the angle for wheat in the new pie-chart?
2080 T 5% WORB, Je5 Sodod Pwreso 12% DORB §° pie-chart S° e J0720d BoBan

§%ea:500 Do®?
(a) . 62.4° (b) 76.8° : (c) 80.6° (d) 84.2°
UNIT-II
Complete the following series : '
1808 @ewod JBoHod :
525, 813, 714,
(a) 3563 (b) 329 , (c) 606 (d) 520
07, 20, 46, 98, 203, —
(a) 420 ' (b) 410 () 310 (d) 320
4,17, 16, 22, 31,43, ————, 76
(a) 67 (b) 52 © 55 @ 51
B,DFILLP ——
(@ U () R 0 S d T
CD, HI, MN, — BEr
(a) QS (b)) -OP : e PQ ~(d) RS
2,A,9, B,6,C, 13 D, —
a 9 (b) 10 e ) 12 d 19
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Weldh e m e i . 8
(@) U-121 (b) U-=122 B V-1

Find out the odd one

(@ 175 i (© 25
Petrol : Car : : Led: PILS

(a) Pen (b) Pencil (¢)- Metal
Circle : Arc : : Line : ? _

(a) Dot (b) Angle () Line

UNIT - II1

The sum of first 30 odd numbers is ?

Dsed 30 B Sogge Do ?

(a) 300 v(b) 900 (c) 930

Tt L A —2- then find the value of G + 43
Y 3 2x + b5y

S ot LAY o s v e B
3 2x + by ’

EN e

@ = - = ©

LA VP
YoarThe
11 ' 12 ’ 43

0.0025 x 1.4
Simplily SR
R

00025 x14 ol oy
0.0175

@ 2 (b) 0.2 © 03
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Find HCF of 1672 and 374
1672 2508015;) 374 % K.e.8° DD

(@ 3 (b) 6 © 4

Which of the following is divisible by-15?
1808 T7636S° 98 15 &° grRoDaacity?

(a) 1234 (b) 12345 . (© 123456

What was the day of the week on 16@ July 17767

(a) Monday - (b) Sunday (¢) Saturday

278 16, 1776 7> 3°50S° ) §%ae?

(@) oo (b) e8Fo () #00

How many times do the hands of a clock coincide in a day?
28 5 &S® KAAE0S™ Snenen 2.8 mrdS® 256 IR 8 HEPDIo?

(a) 20 (b) 21 | © 22

UNIT -1V

Find the average of first 40 natural numbers

D0E5ed 40 Sees Sogge [oPIB8 EOATH0[0

(a) 20.5 (b) 20.7 : (© 19

(d) None of the

(d) 8 s

d 5

C(d) 123455

(d) Tuesday

(d) DorsTso

@ 24

@ 21

The average of 11 results is 60, If the average of first 6 results is 58 and that of the last six is

63. Find the sixth result

11 $0zre o798 60, D0csed €38 HOTre SKew 58 38 e8> HOTPO Hiew 63 od 8 HOE)

E208%,08

(a) 16 (b) 26 (c) 66

(d) 56

(4021ANS15)
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Find the average of first 20 multiples of 7
7 Boo¥); D00e3 20 Meaee St S8 08

(a) 173 (b) 1735 (c) >63 (d 120

Ifa:b=5:7andb:c=6:11thena:h:¢=2
(a8 55:97:66 (b)-~ 30242 7% o) 35=45" 49 (d) None of these
a:b=5:7308a0b:c=6:11®wowda:b:c="?

(a) 55:77:66 (b) 30:42:77 (¢ 35:45:49 @ 58

15% of x =20% of y then x: y
15% of x =20% of y @00d x: y

(a) 3:4 (b) 4:3 de s ey 17 : 16 (d)- 1617

Devide Rs. 1,162, among A, B, C in the ratio 35 : 28 : 20
(a) Rs. 490, 392, 280 (b) Rs. 470, 390, 269
(c) Rs. 480, 370, 260 () Rs. 390, 480, 270
8. 1,162 00 A, B, C 0% 35 : 28 : 20 D)AS° 9858903050

(a) & 490, 392, 280 ' (b) &. 470, 390, 269

(c) ®o~. 480, 370, 260 , (d) &oe. 390, 480, 270

The sum of ages of a father and his son is 45 years. 5 years ago the product of their ages was
34 the ages of the son and father are respectively.

'(a) 6 and 39 (b) 7 and 38 () 9and36 (d) | 11 and 34

HoG §%e A0 HADHRY) 45 dolew. 5 SodEyore (EBo 38 HoHHBYE oR0 34, §7%H doGe

JADV B30T Joh?
(a) 6 08asw 39 (b) 7 508a5» 38 () 9 08asw 36 (d) 11308050 34

The sum of ages of five children born at the intervals of 3 years each, is 50 years. What is the
age of youngest child?

(a) 4years (b) 8years (¢) 10 years (d)  None of these

2508 3 D05EYTO. BOBTTOS® SV DEHE dgev SITE T8 o SaHRY 50 Diew 55
QOBEH0 HOA) J0H?

(a) 4 donew ' (b) 85011_&) ' (¢) 10 Sonew v(d) B 52

(4021ANS15)
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40.

41.

42.

43.

44.

45.

A man walking at the rate of 5 km per hour crosses a bridge in 15 minutes. The length of the
bridge (in mtrs) 1s 5

5 km/hr. Beand’ 2,560 DRI (DGR TreE RS 15 A0 S3¢08. |G 6D 0B (0ea6")?
(a) 600 ' (b) 750 ey 1800 @ 1250

A car is running at a speed of 108 kmph what distance will it cover in 15 seconds?

(a) 45 mts () 55 mts (¢ 450 mts (d) None of these
2.8 5% 108 kmph 308" 15 DEIS® Dot &30 FB0B?

" (a) 45 . (b) 55 . () 450 %o. (d) 285

UNIT-V

45% of 750 — 25% of 480 = ?
(a) 216 (b) 21750 - (¢ 236.50 d) 245

What perbént is 3% of 5%?
3% BE); 5% B*Ho 20oBH?
(a) 15% (b) 30% () 50% d 60%

By selling an article for Rs. 100. A man gains Rs. 15, then his gain percentage is?

e, 100 0% 530D @y 15 Ereeae g0 08D 9B ergTHo?

2 11, 1

(@) 15% (b) 125%' ‘ (©) 1774 (d) ‘172%

10% loss on selling price is what % loss on the cost price

eeo’)oégo S8 10% ég\o §°é°1 B8P 0B Ié‘g'?éo?

& 9-1%% M) 9%% © 10% @ 11%

. : = g 4 . .
A, B, C cut into a partnership in the ratio —: —: E, after four months A increases his share

by 50%. If the total profit at the end of one year be Rs. 21,600. Then B’s share in the profit is
(a) Rs. 2,100 (b) _Rs. 2,400 {(¢) Rs. 3,600 (d) Rs. 4,000
T.4.6 2566 vegad 3G A, B, C oo griigivent S0 4 Doe S0 A 85 reiisod’

35
50% Do, 2.8 oS0 298 S ergfo 8. 21,600 @ond B e

(a) &o~. 2,100 (b) &e. 2,400 () &u~. 3,600 (d) &o~. 4,000
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47.

48.

49.

50.

A, B, C hired a car for Rs. 520 and used it for 7, 8 and 11 hours respectively, h
paid by B were -

(a) Rs. 140 (b) . Rs. 160. (¢ Rs. 180 (d) Rs: 220

8. 520 A, B, C 2.8 5260 008 B0E"D K DI 7, 8, 11 Kotrew TR T°w*8w. B HO)
0 T8 : |

LD [~

(a) &r. 140 (b) & 160  (c) 8. 180 d) 8. 220

The simple interest on Rs. 1,820 from March 9, 2003 to May 21, 2003 at 7%% rate will be
(@) Rs.22.50 ) Rs.27.30 . (c) Rs.28.80 @ Rs. 29

538y 9, 2003 H09 W 21, 2003 HSH 7%% Bew&® &, 1,820 B0 S.I.

(a) ®~.22.50 (b) &oe. 27.30 fe)- &r.28.80 ' (d)y- 6. 29

At what rate percent per annum will a sum of a money double in 16 years?

o F°&HO éé BeonS® S0 eden 16 ol Be30) YB0B?

3

N GY 6i% (b) 6‘2% (c) 6%% . (d) 5%%

Find compound interest on Rs. 7,500 at 4% per annum for 2 years, compounded annually.

(a) Rs.611 () Rs. 6,00 (¢) - Rs. 602 (d) Rs. 612
B SoddyS0 sg} x):%o&mo';ﬁg . 7,500 P 4% p.a.8° 2 Jon 0% edy C.I dos?

| (a) B».611 (b) &r. 6,00 (c) & 602 (d &r.612

'Find the compound interest on Rs. ’16,000 at 20% per annum for 9 months compounded

quarterly _
(a) "Rs. 18,5622 '(b) Rs. 16,522 (¢ Rs. 17,522 (d) - Rs. 15,522

BA0eRE 5§ FAn¥S08® 20% p.a. BeE® 9 oreH K. 16,000 P ey C.1. Jo8?

= aé

(a)  &r. 18,522 (b) &r. 16,522 () 8. 17,522 d) &r. 15,522
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